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MEDIANS

If A(2,5), B(10, -1) and C(-6,-5) are the
vertices of AABC, find the following.

k3

1) What are the coordinates of H if

CH is a median of AABC? H Ua,'l_)

_ 1
2) Slope of CH= 17
— b

3) Equation of CH 3 -2 T (X ""L")
4) What are the coordinates of J if ,

JB is a median of AABC? J(~7, 0
5)  Slopeof /B = L
6)  Equationof W~ 0 = L (X+2)
ALTITUDES

If A(4,3), B(6,~5) and C(-2,-3) are the
vertices of AABC, find the following.

2)

1)  If CH is an altitude of AABC which vertex is a

pointon cH ?_ L (-1.,-3)
— A

Slope of AB= " Li 1 slope=_Tg

3)  Equation of CH Y +3 < g (x#2)

4) If JB is an altitude of AABC which vertex is a
pointon JB ? B (=,79)

5)  Slope of 4C = | L slope=_" l

6)  Equation of JB 3\*’5"' "](7{“\”’)
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7} What are the coordinates of K if
KA is a median of AABC? K\, ~ ?7)

8) Slope of K = H

9) Equationof—KATlﬁ t3 = th”?’)

——

HAN

5
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7) If KA is an altitude of AABC which
vertex is a point on KA? (4 , 3 )
D

S |
8) Slope of BC = T leope=i

9) Equation of KA 3’" L =Y (Y”LO



PERPENDICULAR BISECTORS

- If A(-1,-2), B(-7,2) and C(-5,8) are the
vertices of AABC, find the following.

1) What are the coordina_tf;‘s of Hif
H is the midpoint of 4B 7? H C‘Li,D)
. L 4
2) Slope of 4B = _ 7 1 slope="2_

3) Equationl of . bisector of AB
yu~0- %f_ (X + Lm

wd .

4)  What are the coordiaﬂeé of Jif
J is the midpoint of 4C?3 ("%, 5)
-5 st

5) Slopeof AC=_75_ Lslope= 5

6) Equation of L bisector of AC
R s
- 57 = (X+)
3 )

i
e,

7} What are the coordinates of K if
K is the midpoint of BC? K\- Lt 5 )

L

8) Slopeof BC= 2 1 slope=_"2

9) Equation of L bisector of BC
R '
%«6- = (s )




